21132 +F & , B , TVEE T~

L1

D3

7= miiEA

ME

HESHMARINBIE , KARELE,
TEMESEE , KITELE,

TN L4T | SRELIBLY

HASIT , REFS

BRIFIEIE RS

I

SHFWEEERR/NTF 0.02 mm,. BHIELZIT , JHNARE,
BR:

BYJLFERBRHSHMETTRRA LT, FRBRTERTNRE
#41,

BFUERETREF 01 mm MEREE , BFRIANHFELEH,
fUERE REANENMET B ERAFHRRET  TEEHATE, LB
ERBENRENE T EBRITEERE 4 MuE Lo

BERERNMFE  FRRIHNBRYETUREREREENE, RS
E/RMFAE,

ELRT :
VEETENLTENE :
a) £ (Eik)

b) &

c)

d) &

H2

L4

L3
B2
02
]
|

93|

© norelem

B1

D5 (DIN 974-1)

www.norelem.com




21132 +F& , % , B BIETA

TH=S B(B1B2/D D1| D2 D3 D4 D5 H H1H2H3 H4 L1

21132-108 | A 4 134,5 2 X=39(50) 1,9/09|19
21132-112 | A |75 60|38 26|23 M6x1|12|M6| 6 |23,5/20|29|27|15,5|187,5|133 75/120|30| 2 25|300|300| X=58(100) 55| 3 |55
21132-208 | B |46 36|21 26|23 M6x1| 8 |[M4| 4 | 18 |14|27|23| 14 |134,5|80 46| 75|20/ 2 14200200 X=39(50) 1,9/0,9|1,9
21132-212 | B |75 60|38 26|23 M6x1 |12\M6| 6 |23,5|20(29|27|15,5|187,5|133 75/12030| 2 25|300{300| X =58 (100) 55| 3 |55
21132-308 | C |46 36|21 26|23 M6x1| 8 |[M4| 4 | 18 |14|27|23| 14 |134,5| 80 46/120/20/2 14 /200|200 X=39(50) 1,9/0,9|1,9
21132-312 | C |75 60|38 26|23 M6x1|12|M6| 6 |23,5/20|29|27|15,5|187,5 133 75/180|30| 2 25 300|300 X =58 (100) 55| 3 |55

© norelem www.norelem.com



